First Fundamental Theorem

L f(e)dr = £ (g()) g'(0)

Second Fundamental Theorem

j.bf(r)d’r = F(b)— F(a) where F’(x) = f(x)

ledament'll Theorem of Calculus:

I)
Jf(v) dx = F(b) - F(a). where F'(x) = f(x). 1—Jj(*r) dx = f(x).

Second Fundamental Theorem of Caleculus (Steve’s Theorem):

d X ‘ glx) T
aij(r} dt= f(x) or —h['[lf(t) dt=g'(x)f(g(x))-h (}:)f(h(x})
Fundamental Theorem of Calculus:

F'(x)= —I I f}df = ( where f() is a continuous function on [a, x].

j f f?'T ) —F ( a) , where F(x) is any antiderivative of f(x).




